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Math 2250-1
Quiz 5 Solutions
September 23, 2011

1) Consider the following system of equations
2:Xx+y+3z=4
X+y-z=3
-X—2-y+6-z=-5
1a) Exhibit the augmented matrix corresponding to this system, compute its reduced row echelon form,
and find all solutionsto the system.

(7 points)
2 1 3 4
A= 1 1 -1 3
-1 -2 6 -5
R2—Rl, R1-R2:
- 3
_ _2 _
R2—-2:-R1+R2, R3—R3+RL1:
1 1-1 3
0 -1 5 -2
0 -1 5 -2
R2—-R2,R3— -R2 + R3:
11 -13
01 -52
00 0O
Rl—-R2+R1: _ _
10 41
01 -52
00 0O
Thuszcan be afree parameter,z=t,y=2 +5t,x=1 —4-t, or in vector linear combination form
X 1 -4
y|=|2|+t| 5
z 0 1

Thisisthe parametric equation for a line thiough [1, 2, 0] and with velocity vector [ -4, 5, 11).

1b) If we interpret solutions to this system as the intersection set of three planes, what geometric
configuration of the planes does this system exhibit?



(1 point)

From the solution above we see that the solution set to this system represents three planes intersecting in
aline.

2) Here aretwo matricesA and B. Only one of the matrix products AB, BA exists. Compute this
product.

-2 2
-1 4
= B=| 10
35
31
Only BA makes sense, and
-2 2 8 2
-1 4
BA= 10 =l -1 4
35
31 0 17

(2 points)



